I 204

. ﬁ%{sﬂ% A4 EEI
(BER) | #® A
— g8 B
Xz | SRCC) | KiE(C) [HEEUKE| FiR =i BR
48| HREE 21.0 17.4 == BE m mR
6A| #== 28.0 22.6 xE meEX | REH-% mE
8A = 32.6 29.2 =IE B B R |
10A| M5 27.1 24.7 =IE BE me mR
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oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
E&(E] 656~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHIE(75%1E) - 8.6 1.2(1.8) 2 65000
48] 75 95 <05 5 1100
6A| 74 8.6 1.8 2 230000
8A 7.1 5.3 1.3 2 79000
10A] 7.2 7.0 2.1 2 49000
12A] 8o 9.4 <0.5 1 33000
2A] 715 12 0.9 1 330
BEIER
N INESS & E SNfionL  #tE Bk ER T ILEILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
8] 0.01LLF | JERE | 0.01LLTF [0.05LLF | 0.01LLF | 0.0005LLF JERH
EH{E]  <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 =
48] <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A| <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8A - - - - - - -
10A] <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
12A8] <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
28 - - - - - - -
SOO0A _opwme |1L,2-070[11-0500[2R-1,2-550(1,1,1-~)500
PCB 5 bR A 3 a4 | TFL A h
(mg/l) | (mg/I) (mg/1) (mg/l) | (mg/D) (mg/1) (mg/1)
s E#RE [0.02LLF ] 0.002LLF [0.004LLF| 0.02LLF | 0.04LLF 1LF
SE{E] <0.0005 | <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
48] <0.0005 | <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
6| <0.0005 [ <0.002 <0.0002 | <0.0004 [ <0.002 <0.004 <0.01
8AH - - - - - - -
10A] <0.0005 | <0.002 <0.0002 | <0.0004 [ <0.002 <0.004 <0.01
12A8] <0.0005 | <0.002 <0.0002 | <0.0004 [ <0.002 <0.004 <0.01
28 - - - - - - -
1,1.2-ky4 [FUoOA|[ 5400 [1,3-249A = s oyt FARUAIIL
a4y | TFLY | TFLY | aFan FOSL| YDV 5
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E (5] 0.006 L F[0.03LLF | 0.01LLF [0.002LLF[0.006 L | 0.003LLTF 0.02LLF
SE{E] <0.0006 | <0.003 <0.001 <0.0002 [ <0.0006 <0.0003 <0.002
48] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6B| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8A - - - - - - -
10A] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12A8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
28 - - - - - - -




Ry | vy |RBRERRRY so% | 5%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FE{E] 001LLF [001LAF| 10LLF 0.8LLF 1LLF
EH{E]  <0.001 <0.001 0.84 0.1 0.3
4H] <o0.001 <0.001 1.1 <0.1 <0.1
6A] <0.001 <0.001 1.1 <0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 0.54 <0.1 0.1
12H] <0.001 <0.001 0.63 0.2 0.8
2R - - - - -
ZDHIRE
Naonoa| 2% | 2m | @ | 2@m@ | onodkus |TARTLT
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
ERE - 1.0 0.042 - 0,013 <0001 <0008
7y: 1 12 0.018 - <0005 <0001 <0.008
6A| - .1 0.017 - 0.010 <0.001 <0.008
8A| - 0.83 0.072 - 0.025 - -
108 - 0.57 0.029 - 0.008 <0001 <0008
128 - 1.0 0.040 - 0.025 <0.001 <0.008
28 - 1.3 0.077 - <0.005 - -
BiLH HRHERTE (| B ; = i S
IT/=| kS coD el > AE EXizER
(mg/D) | (mg/I) (mg/1) (mg/D) | (mg/) (BF) (uS/cm)
EHE]  <0.02 860 2.2 <0.01 0.01 - 3500
4H| <0.02 28 1.8 <0.01 <0.01 - 230
6A] <0.02 39 3.5 <0.01 <0.01 - 240
8A - - 1.7 - 0.02 - 9100
10H]| <0.02 380 3.9 <0.01 <0.01 - 1500
12H]| <0.02 3000 0.5 <0.01 <0.01 - 9800
28 - - 1.5 — <0.01 — 240
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Xz | SGRCC) | KiE(C) [HEEUKER| FiR &1 BER
48| RES 21.0 20.3 == 1 RE - mE
68| #= 28.0 22.2 RE REX | KGE-# BR
8A = 31.0 29.4 == B Tk i wmR
10A| RES 27.1 27.2 3 BE BREB-E BR
128 RES 18.5 18.1 xE B xR TKE-#
28| 1REE 13.8 14.4 x[E BE | IRERMA % ER
4FERIKIEHR _
H DO BOD SS KEEHH
P (mg/D) | (mg/D) | (mg/) | (MPN/100ml)
EHE (75%1E) - 7.1 6.0(6.3) 9 3000000
48] 72 5.9 21 8 230000
68| 73 7.8 2.8 15 17000
8HA| 68 4.8 6.3 8 13000000
10A] 72 6.6 2.1 7 2400000
128] 78 8.1 3.1 5 1300000
28] 73 9.2 0.9 12 1300000
BEIEHE
NP INESD S S R NoOL  BtE Bk SR 7 ILEILIKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HAEME 001 LT | FEEH | 001LLF 005 F [0.01L0F | 0.0005LLF e
EHE - - - - - - -
4H - - - - - - -
68 - - - - - - -
8H - - - - - - -
108 - - - - - - -
12| - - - - - - -
2R - - - - - - -
PZ/1=1=BJ we (1,2-278|1,1-C40n|PR-1,2-240(1,1,1-kJ50n
PCB POREIL 2 iy Lty NTFLe h
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HE] ERH [002LLTF | 0.002LLF [0.004LLF[ 0.02L0F | 0.04LLF 1T
EH - - - - - - -
4A - - - - - - -
68 - - - - - - -
8H - - - - - - -
108 - - - - - - -
128 - - - - - - -
2R - - - - - - -
1,12-Fy4 [RUoAA| Fr5400 (1,3-49A = [N FARAIL
anzss | TFLY | TFLY |nFox | FTIIL| ROV 5
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#{E10.006LLTF[0.03LLF | 0.01LLF [0.002LLF[0.006 LA F| 0.003LLF 0.02LLF
EH - - - - - - -
4A - - - - - - -
68 - - - - - - -
8H - - - - - - -
108 - - - - - - -
128 - - - - - - -
2R - - - - - - -




HEBHEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HE{E] 001LLF [001LAF| 10LLF 0.8LLF 1LLF
—weEl - [ - - =T —
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHMIEE
N—A~F4 RILLTF LT
e EER e S 2®e | J00RLL ER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - 2.7 0.22 - 0.059 - -
4H - 3.1 0.28 - 0.11 - -
64 - 4.4 0.16 - 0.055 - -
8A - 1.4 0.23 - 0.018 - -
10A - 3.0 0.27 - 0.056 - -
12H - 1.8 0.17 - 0.064 - -
2R - 2.7 0.18 — 0.049 — —
BiLH HRHERTE (B : e i s
IT/=| kS cobD el > AR BREER
(mg/D) | (mg/) (mg/1) (mg/D) | (mg/) (BF) (uS/cm)
EEEl - - 6.0 - - - 3400
48 - - 10 - - - 1100
6A| - - 45 - - - 510
sHl - = 5.6 = = = 7900
10H - - 5.9 - - - 3400
12H - - 3.6 - - - 6600
28 - - 6.1 — — — 1100




